28 & F BV -78 BEXR

ZF XTEX TO =4
12A 108 235 IR
q:00 TR VS ROBINS =% =48 NARA FUTURE
10:20 =% VS |[NARA FUTURE| ROBINS PR ROBINS
I1:40 ROBINS VS =4 TR =% NARA FUTURE
1I2A118 2% =%
q:00 =% VS TR ROBINS Ho v (42 XB ROBINS
10:20 ROBINS VS | #>¥v(>XB =% =% 5=
11:40 52 VS =% H#2v42XB TR ROBINS
12A178 235 =48
9:00 #oovA4XB | VS =4 2 =% &=
10:20 3 VS ROBINS #2942 ZXB | #o ¥4~ XB PIRE
I1:40 =% VS | #>vv14>XB ROBINS -3 ROBINS
13:00 =4 VS |[NARA FUTURE T3 R =% T3 R
14:20 ROBINS VS =% NARA FUTURE| #>¥ %4> XB |NARA FUTURE
15:40 |NARA FUTURE| VS TR =4 ROBINS =4/
1A 148 235 FIHR
q9:00 IR VS | #ovv4>XB =4 =% =48
10:20 |NARA FUTURE| VS ROBINS =% #>Yv4>XB R
11:40 =% VS =4 ROBINS |NARA FUTURE| ROBINS
IA218 2% 8
9:00 3 VS iR =45 NARA FUTURE =4
10:20 | #>¥v4>XB| VS |[NARA FUTURE 2 5= 3R
11:40 = VS 3 NARA FUTURE|NARA FUTURE| #>¥+{>XB
2A5H 2% 8
9:00 5= VS | #>3¥+4>XB |NARA FUTURE =4 NARA FUTURE
10:20 TR VS =L H#Yr (4> XB -3 H#rv 4> XB
I1:40 |NARA FUTURE| VS 5= PR 3R =4




